

01/25/2022

			Vendor	Ranking		Page 1	of 1
Letting:	08220111	January 11, 2022 02:30 PM	Call Order	: 003	Contract:	E8T60	
District:	Turnpike		Counties:	ORANGE, OSCEOLA,	Fed Aid No:	N/A	
Contract Time: Contract Desc:		AR DAYS OVEMENTS - ZONE 3		SEMINOLE, SUMTER, TURNPIKE	Project(s):	19077315240 (*)	

Rank	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	SAFETY SYSTEMS BARRICADES CORP.	Responsive	Winning bid	\$69,480.00	100.00% In	tent to AWARD
2	GLACIER CONTRACTING INC	Responsive	Non-Winning Bid	\$97,377.00	140.15%	
3	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$104,395.00	150.25%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JANUARY 25, 2022, 4:00 PM



01/25/2022

Tabulation of Bids							
Letting:	08220111	January 11, 2022	Call Order:	003	Contract:	E8T60	
District:	Turnpike		Counties:	ORANGE, OSCEOLA,	Fed Aid No	: N/A	
Contract Time: 60 CALENDAR DAYS			SEMINOLE, SUMTER,	Project(s): 19077315240 (*))	
Contract Descr	SIGN IMPRO	VEMENTS - ZONE 3		TURNPIKE			

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to provide highway signing improvements at various locations on Florida's Turnpike (SR 91), Milepost (MP) 240.0 to 309.0, Seminole Expressway (SR-417) MP 1.0 to 4.0, and MP 52.0 to 55.0, and Beachline Expressway (SR 528) MP 1.0 to 8.0.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

All lane closures shall be during the hours of 9:00 P.M to 5:00 A.M. and in one direction for one lane only.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Overhead Signs. The Experience in Overhead Signs Form (850-070-03) must be filled out and submitted to be reviewed by the Department. If a Contractor is presently prequalified with the Department in roadway signs, it is not necessary to submit the form.

Line No / Item ID Alternat Item Description	e Quantity Units	(1) SAFETY BARRICAD		(2) GLACIER C IN		(3) ACME BA	RRICADES LC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
0005 0101 1 MOBILIZATION	(1.000) LS	4,985.00000	4,985.00	9,200.00000	9,200.00	7,500.00000	7,500.00
0010 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	2.000 AS	450.00000	900.00	390.00000	780.00	575.00000	1,150.00
0015 0700 1 12 SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF	2.000 AS	1,985.00000	3,970.00	1,400.00000	2,800.00	2,000.00000	4,000.00



01/25/2022

									Page 2 of 4
Letting	g: 0	8220111	January 11, 202	2 Ca l	I Order: 003		Contract:	E8T60	
	No / Item ID	Alternate	e Quantity Units	(1) SAFETY BARRICAD		(2) GLACIER C IN		(3) ACME BA	RRICADES LC
() ind	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(MAINTENANCE	SUPPORT SER	VICES (MH				
0020 SINGLE	0700 1 40 POST SIGN,	INSTALL	6.000 AS	325.00000	1,950.00	850.00000	5,100.00	485.00000	2,910.00
0025 SINGLE	0700 1 50 POST SIGN,	RELOCATE	4.000 AS	367.00000	1,468.00	1,200.00000	4,800.00	1,525.00000	6,100.00
0030 SINGLE	0700 1 80 POST SIGN,	REPAIR	2.000 AS	250.00000	500.00	0.00000	0.00	250.00000	500.00
	0700 2 12 POST SIGN, 1, 12-20 SF	F&I GROUND	2.000 AS	5,125.00000	10,250.00	686.00000	1,372.00	5,300.00000	10,600.00
	0700 2 14 POST SIGN, I I, 31-50 SF	F&I GROUND	1.000 AS	6,430.00000	6,430.00	10,000.00000	10,000.00	9,600.00000	9,600.00
	0700 2 15 POST SIGN, I, 51-100 SF	F&I GROUND	1.000 AS	8,250.00000	8,250.00	15,000.00000	15,000.00	10,150.00000	10,150.00
	0700 2 16 POST SIGN, I I, 101-200 SF	F&I GROUND	2.000 AS	10,830.00000	21,660.00	20,000.00000	40,000.00	15,300.00000	30,600.00
0055 MULTI-	0700 2 60 POST SIGN,	REMOVE	2.000 AS	830.00000	1,660.00	810.00000	1,620.00	1,750.00000	3,500.00
	0700 3101 ANEL, FURNI ND MOUNT, U	SH & INSTALL P TO 12 SF	7.000 EA	260.00000	1,820.00	100.00000	700.00	225.00000	1,575.00



01/25/2022

		т	abulation of Bi	ds			Page 3 of 4
Letting: 08220111 Ja	nuary 11, 202	2 Ca l	I Order: 003		Contract:	E8T60	
Line No / Item ID Alternate Item Description	Quantity Units	(1) SAFETY BARRICAD		(2) GLACIER C		(3) ACME BA	RRICADES LC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (M	AINTENANCE	E SUPPORT SER	VICES (MH				
0065 0700 3201 SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF	5.000 EA	895.00000	4,475.00	800.00000	4,000.00	1,780.00000	8,900.00
0070 0700 3601 SIGN PANEL, REMOVE, UP TO 12 SF	7.000 EA	50.00000	350.00	100.00000	700.00	50.00000	350.00
0075 E700 30 2 SIGN PANEL OVERLAY, MULTI POST	29.000 SF	28.00000	812.00	45.00000	1,305.00	240.00000	6,960.00
0001 MAINTENANCE SUPPORT Sect SERVICES (MH)	tion Totals:		\$69,480.00		\$97,377.00		\$104,395.00

Contract Grand Totals:

\$69,480.00

\$97,377.00

104,395.00

FDOT
- Y

01/25/2022

			Tabulatior	n of Bids			Page 4 of 4
Letting:	08220111	January 11, 2022	Call Order:	003	Contract:	E8T60	
		NOTE: Failure	to file a protest wit	hin the time	prescribed in section		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.